L.O.: perimeter of a rectilinear shapes 
Solve these calculations in your book, write out the question. 
	Should
	Could
	Challenge

	Perimeter of rectangle with sides:
1.) 3cm and 4cm
2.) 2cm and 8cm
3.) 6cm and 9cm
4.) 7cm and 13cm
5.) 6cm and 14cm
	Perimeter of rectangles with sides:
1.) 13cm and 4cm
2.) 4cm and 18cm
3.) 15cm and 9cm
4.) 6.5cm and 13.5cm
5.) 16.5cm and 4.5cm
	Which of these perimeters is for a square (whole cm sides)? Explain how you know.
1.) 16cm
2.) 24cm
3.) 35cm
4.) 49cm
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Use it!
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Own it!
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10a. True or false? The perimeter of the

shape is 60cm.
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5a. Noah has drawn a shape.
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Find the missing measurements and
calculate the perimeter.
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11a. Which shape has a perimeter of

34cm?
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6a. True or false?
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The shape has a perimeter of 40 cm.
Convince me.
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Bob has some rectangles all the same
size.
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He makes this shape using his rectangles.
What is the perimeter?

He makes another shape using the same
rectangles. Calculate the perimeter of this
shape.
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Here is a rectilinear shape. Al the sides
are the same length and are a whole
number of centimetres.

Which of these lengths could be the
perimeter of the shape?

48 cm, 36 cm, 80 cm, 120 cm, 66 cm

Can you think of any other answers which
could be correct?
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Find the perimeter of the shapes.
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The shape is made from 3 identical rectangles. Find the
perimeter of the shape.
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How many different shapes can you make with a perimeter of 24
cm? How many sides do they have?
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1a. Patrick has drawn some shapes.
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A, Which shape is the odd one out?
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2a. Isabella has made a rectilinear shape
with a perimeter of 26cm.

6cm

7cm

3cm

wog

3em Not fo scale

What is the missing measurement?




